H £ 0l & AF & S

Al A

205E S Z0ilaH LBESIH (24 - ZoHel Dt
FA oEa - Zopelt
Hm: olz4l =X =A
el =24 SXIKIA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HE24! - ZoHel Lt 287,431,205 271,143,842 16,287,363
= 213,503, 100
[ 167,500
Al 39,268,877
- 34,491,728
oed =4 58 237,221,337 224,837,680 12,383,657
= 192,571,749
Al 20,234,673
- 24,414,915
Hzdl SXXA 237,221,337 224,837,680 12,383,657
= 192,571,749
Al 20,234,673
- 24,414,915
FSAILIGZE €X - 29 435,944 0 435,944
Al 260,066
- 175,878
201 fer= 3| 2,500 2,500
01 At 2|l 2,500 2,500
NEE & JHata 2 2R 25 72|
2,500,000 2,500
307 elztol & 433,444 0 433,444
Al 260,066
- 173,378
05 21t =3 433,444 0 433,444
IEENVEEREEEE:
108,361,000& *4= 7| 433,444
Al 260,066
- 173,378
celgxiel & Alelgs K& 15,083,402 14,333,934 749,468
= 4,525,021
Al 5,279,191
- 5,279,190
101 21A4H| 2,121,940 2,121,940 0
= 636,582
Al 742,679
- 742,679
MU IIRINZZENSES 2,121,940 2,121,940 0
g3 290,000 x646E 112 2,060,740
= 618,222
Al 721,259
T 721,259
N2 & 2OFH S
61,200,000 61,200
= 18,360




FA oEa - Zopelt
Hm: olz4l =X =A
el =24 SXIKIA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 21,420
T 21,420
201 Ler=23 | 45,000 45,000 0
= 13,500
Al 16,750
- 15,750
01 At2t2ltl 45,000 45,000 0
nNeoldxel 25+ 45,000,000 45,000
= 13,500
Al 16,750
- 15,750
203 HR=H] 7,460 7,460 0
= 2,238
Al 2,611
- 2,611
03 A=A 2= 7,460 7,460 0
Nl RielAtg =& 1,000,000 1,000
= 300
Al 350
- 350
Nl XelAIY WAL 2t 3
6.,460,000& 6,460
= 1,938
Al 2,261
- 2,261
307 lztol & 12,909,002 12,159,534 749,468
= 3,872,701
Al 4,518,151
- 4,518,150
05 git?(& = 12,909,002 12,159,534 749,468
Neolgdiiel &0k 22 ¥ RUBH
12,127,182,000& 12,127,182
= 3,638,155
Al 4,244,514
- 4,244,513
Nagelsl QIAHI(MPIHAH 8
781,820,000 781,820
= 234,546
Al 273,637
- 273,637
H24l =20 243 A 151,140 145,318 5,822
Al 72,063
T 79,077
307 elztol & 151,140 145,318 5,822




01241 - H0HQIT}
02d =X &
Hzal SXXE M2l
SA - BH - () - NSAY - BAS ofl v A 2
Al 72,063
- 79,077
" AMSI=SXAIEEE 151,140 145,318 5,822
NE2Y =3 T2 )3ALA Y 88,477
2122 5,8, 7503 12& 70,713
Al 27,972
- 42,741
QMU= 7,071,000& 7,071
Al 2,797
- 4,274
2)EIXNEYZ 5,892, 750& 5,893
Al 2,331
- 3,562
2)048l 20,0002 2102 * 123 4,800
NE2Y =3Z2d 29 X
50,0003 *12& 600
NE=2Y SstZ2 )y Mol
26,962,800 26,963
Al 26,963
N2 ASI8E KA (RISSAREE
E=4l) 12,000,000 12,000
Al 12,000
nNd=24g ootz 0y 435 X 23,100
2)Z AL 35,0003 #2001 A-*323= 22,400
2)M=z8l 14,0002 *200H 2 280
2) W THh| 7,000 32 x200H 2 420
AS50EHAHEH 29 701,500 701,000 500
Al 175,000
- 526,500
201 Let2| 500 500
01 ArR222lt| 500 500
DA LASMO|2/AT] =G
100,000 x5Z 500
203 R =& 1,000 1,000
03 AR FRIHRFAIH| 1,000 1,000
NAS0EHANYH 2Y 8435t
1,000,000& 1,000
307 2I2+01™ 700,000 700,000 0
Al 175,000
- 525,000
05 QIZtRES 700,000 700,000 0
NEAS0EHAME 2IZ2IE2
175,000,000& *4= 2| 700,000
Al 175,000




EA: HEA - HOHel
Hy: oj24 =X =
Sl 24 =SXXHE (EEEE))
SA - BB - S(3H) - MRAY - BES Ol &b ot e MimE=E)
| 2 525,000
et 0lg 2=72X3 43 114,095 19,934 94,161
307 S1Zto| ™ 114,095 19,934 94,161
02 QIZFAAMAIEE X 19,934 19,934 0
(AN OS2l 2A=7XIE 435 Al
19,934, 000& 19,934
03 QIZIHXBHE2IHIE X 94,161 0 94,161
(AN el 221X e 29 X 94,161
2) QI H| 71,120,000& 71,120
2)294| 23,041,000 23,041
MAS HEA SAXJAE 2,591,005 2,342,419 248,586
Al 2,230,960
- 360,045
307 21z2to| ™ 2,591,005 2,342,419 248,586
Al 2,230,960
- 360,045
11 AISISE XA EX 2,591,005 2,342,419 248,586
NAZAY ZAlH|
4,500 *1,081H %313 1,522,589
Al 1,387,247
- 135,342
1EBHE Y DI234|
5,000&*715Hx104! 371,800
Al 342,056
- 29,744
DT AR b =2 Al
4,500 x 135 x365 221,738
Al 202,027
- 19,711
1NEZAIEEHY =01 XI&
1,000& *135H x372! 50,220
1)S4l| 4,500 %1,931H»7 60,827
Al 58,123
- 2,704
1) kAL Q1Y
2,466,070& *7 0 %128 207,150
Al 124,291
- 82,859
1)Z2IAF 21|
2,442 020 *3H 2% 128 87,913
Al 52,748
- 35,165
NZeIEXS =&
2,286,430 * 10 %128 27,438
Al 27,438




ST Ol24l - EOHOIT
Hm: olz4l =X =A
chelr H24 SXIX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NIZ2Alg 29| 2,000,000 *97H 2~ 18,000
Al 18,000
NS&EI| X 20,630
2L HiE 5,00021+508 »26 6,500
Al 5,980
- 520
2)=AIE HHE 4,500 30 +90! 12,150
Al 11,070
- 1,080
)R SAL nEHNE X
20,0002 x33H 32 1,980
Al 1,980
NEAIZE SEI1 =0t A&
1,000& *30E 0! 2,700
BENE(F) MHallS(F) & 62,610 92,446 N29,836
201 Ler23 | 13,300 90,236 AT6,936
01 At2teltl 300 236 64
NEEE M S 300,000 300
03 A= 13,000 90,000 AT77,000
NS Z2EX A
1,000,000 1300 = 13,000
203 gF=4| 49,310 2,210 47,100
03 A=A =T 49,310 2,210 47,100
NL=EX JRFX 1,210,000& 1,210
NIZEX gRFA
3,700,000 131 = 48,100
o= SSAHIA X 3,990,792 3,868,464 122,328
= 1,194,268
Al 1,393,312
- 1,408,212
201 Let=23 | 900 400 500
01 At22te|Hl 900 400 500
NE=Ls W& s 400,000 400
NIHFIE AR =
100,000& +5& 500
203 g4l 1,200 1,200
03 A=A =] 1,200 1,200
NUZ4 SSMHIA RFX
1,200,000 1,200
307 el2to| & 3,988,692 3,866,864 121,828
= 1,194,268
Al 1,393,312
T 1,401,112
11 AMEISXAEEES 3,988,692 3,866,864 121,828




2A:
T ZH -
o e

=aak

- SHRABA) - HRAY - BES

Ofl &F2H

MEE
Ofl &k2h

3,980,892,000&

50,0003 »13H 128

H

3,980,892
1,194,268
1,393,312
1,393,312

7,800

10,300

10,300

5,500

5,500

700,000
2,000& %2, 40004

5,500

700
4,800

5,500

4,800

4,800

23|

50,0003 8 » 122

4,800

4,800

4,800

7,000

7,000

re|nr

¥

7,000

7,000

=
ton

J

0
o o
4

e

N
—

S
B O
o o2

6,700,000
300,000

7,000
7,000
6,700

300

7,000

o
> | 0a

Bl
e
oy

w

H

207,571,311
186,814,756
10,377,848
10,378,707

193,305,763

14,265,548

860

860

860,000

860
860

860

H

Al

207,570,451
186,814,756
10,377,848
10,377,847

193,304,903

14,265,548

207,570,451,000&

207,570,451
207,570,451
186,814,756
10,377,848
10,377,847

193,304,903

14,265,548

6,000

4,800

1,200

6,000

4,800

1,200

200,000& 30

6,000

6,000

4,800

1,200




2A:

U= ol
Hu: ol24 =X =
el =24 SXIKIA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 dolg 28| XA 6,000 6,000
301 LEtE N = 6,000 6,000
02 ARSI 2EH 2GS (HAAHS, W) 6,000 6,000
nNozal geoig 27| A
150,000 40 6,000
FrFol=5 AFA 37,500 37,500
301 EetE2 NS 37,500 37,500
02 ANRI2HHSFS(HAAS, NLHE) 37,500 37,500
1)100MI Ol&t H2AI(1925EHD1F)
500,000 *75% 37,500
dzd =29 X& 1,196,642 956,450 240,192
Al 370,825
- 825,817
301 EtE N = 126,000 126,000
14 IIEt2 83 126,000 126,000
NE2E XASAXEH &S|
100,000 x 1052 %122 126,000
307 @I2t01 & 920,642 756,450 164,192
Al 370,825
- 549,817
10 Al2ISTIAIEEE 22X 886,280 722,088 164,192
nNzzg 24 X 836,280
REEXS 518,000 x 10574 A * 12 652,680
Al 362,825
- 299,855
LEI2EY 2IEXS
100,000& #3004 2=+ 123 36,000
Al 18,000
- 18,000
RAMEXRS 158, 333210471 A+ 12 197,600
1 AMEISXAEEXS 34,362 34,362 0
NIAE IE2 N
(1,300 +4162#52== )+(5, 0002 1042+ 122 )
34,362
405 AtatE = 150,000 200,000 /50,000
01 IR ESFSHI 150,000 200,000 /50,000
NE2Y 2228 150,000,000& 150,000
CoI=ENAIE(BRY) 28 N 101,634 370,732 A\269,098
201 2= 79,634 46,524 33,110
01 AtR2t2lt] 46,300 44,524 1,776
nootzEzY ties 9,000,000& 9,000
NIZ2G 224 28 700 S
5,000,000& 5,000
NIZ2Y HA BE ==8 500,000 500




FA oEa - Zopelt
Hm: olz4l =X =A
el =24 SXIKIA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NIZ2E 8F e At 20,000,000 20,000
N32g 25 0|8 & 22
7,000,0002 7,000
NRUIIZE(DINE) W)l Z2
3,000,000 3,000
NHYLBRY 27| RA2E
150,000& « 12& 1,800
02 S3=gHl 33,334 2,000 31,334
NZ2Y SEYS L AW AIBR
26,334,002 26,334
NZRY PUY AHEA
7,000,000 7,000
203 HR=H] 2,000 2,000
03 Al ERIAREAY| 2,000 2,000
NEQI=NAL 2% HPEX
2,000,000& 2,000
406 J|EIXHZ 0| 20,000 322,208 A302,208
01 JIEIXH=0I & 20,000 32,208 302,208
NPYPRY BNZ AuE
20,000,000& 20,000
ZJ2E dutgdl & eF=Hl X 576,005 449,7% 126,249
= 37,704
Al 75,408
- 462,893
307 21201 & 576,005 449,7% 126,249
= 37,704
Al 75,408
- 462,893
10 Al SXAAEEHE 22X 576,005 449,7% 126,249
1| X 31,185,000 31,185
= 3,700
Al 7,400
- 20,085
1)tetdl X2 299,600,000 299,600
= 22,400
Al 44,800
- 232,400
nNgeg=s XA 58,020,000 58,020
= 11,604
Al 23,208
- 23,208
Nasae & X
150,000 * 1040 A+ 122 187,200
Lol 298 XE 12,900 20,700 AT7,800
307 212+01& 12,900 20,700 AT7,800




ST Ol24l - EOHOIT
EEEHEVGISTIIEINIR-=FS|
chelr H24 SXIX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 12,900 20,700 7,800
Neolns 24 X 12,900
2)colwal 2H(120H8)
300,000 x 1042+ 123 3,600
2)=elnd 2 (1004E)
300,000 x1JH 2% 103 3,000
2)olwal 2HE(7HE)
300,000 *30H A7 & 6,300
100Ml ABEHA =29 116,626 124,686 /8,060
201 eer23y| 38,3% 44,816 26,420
01 At 22|l 32,712 36,312 A2,600
NZ20Y 248 HEH| S
100,000 x202|* 122 24,000
82l & 1,000,000 1,000
NAIREE S 704 2,000,000& 2,000
)eoP| S ALEZ U0z
65,0002 x4CH* 122 3,120
DARIEERM DM 24
108,000 x2& * 122 2,592
2 35284l 5,684 9,504 23,820
NEARS(AUHY) 42,0003 * 122 504
N3323(IIK3) 350,000 * 122 4,200
Naet(=Eea 28
40,0002 122 480
NEXAE SEUHHASH EE=
500,000 500
202 04l 2,880 4,320 21,440
01 2LHoIH 2,880 4,320 21,440
DAIZHIE R IH S& 0]
120,000 x2&* 122 2,880
203 2=l 500 500
03 A=A PR FA| 500 500
1100A 222eiA 28 FR=A
500,000& 500
204 Xt AH 1,050 1,080
02 SLR3H 1,050 1,050
LIS SHI(AIRFL I M)
50,0002 *(35A1 2H/40A1 2H)x2 B« 12& 1,050
301 LEtE N = 72,000 72,000
11 #AIAMHIXIZ S 72,000 72,000
N2 A=E 72,000,000 72,000
401 Al HIZ R 0HbI 1,800 2,000 A200
01 AlZ28| 1,800 2,000 A200
DAIE 22| & B2 1,800,000& 1,800
CO=ERAIE € Lolg2 Js2Ed 350,000 400,000 /50,000




FA 2N - Zoel ot
m: ol2a =21 =
chelr H24 SXIX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 350,000 400,000 /50,000
01 Al&H| 360,000 400,000 50,000
NE2Y & Lol 2=
350,000,000 350,000
ele=d 2 elcl2ed 20,736 20,736
401 Al HIZ S OHbI 20,736 20,736
01 AlZ2H| 20,736 20,736
Nele|2dd EH & 3A
20,736,000 20,736
ez 249 X 11,990 11,290 700
201 er23 | 8,660 8.810 A150
01 At2t2ltl 8,660 8,810 A150
NI12XE A3 MAE
70,0003 x4 %123 3,360
N2 NEEH 3AHM =<
300,000 * 12 =100 2 3,000
1)2I22E AoRIA3 2ARARY MAE
100,000 +5& 500
NIHRSIH B It 10,0003 »180% 1,800
203 HR=AH] 1,500 1,500
03 A= LR F&IH| 1,500 1,500
Naliea 249 42 =&
1,500,000 1,500
301 EtE NS 1,830 980 850
11 AALRHIXIR S 1,830 980 850
NHSEA D] 2A=2
610,000& *32 1,830
24 SSSMAL MR HE ALY =& 160,930 45,526 115,404
201 Ler23| 16,330 45,526 230,19
01 At2teltl 12,330 42,326 N29,996
NEEe 8 N 12,330
)R+ WL HF ME
5,200 100H 52
)ESSENMNA UHES SEEE
3,000 *4,000H 12,000
ARLESAS & S0 WA
69,3003 *4H 278
03 A= I 3,000 3,200 A200
NAQLRP SHD A
3,000,000& 3,000
203 gF=4| 1,200 1,200
03 A=A 2= 1,200 1,200
NZIIQARR UMD 2H
1,200,000 1,200
301 EtE N = 144,400 0 144,400




ST Ol24l - EOHOIT
EEEHEVGISTIIEINIR-=FS|
chelr H24 SXIX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 144,000 0 144,000
NI MLIHSH X
20,0002 *600H 123 144,000
11 #AIAHIXIZ S 400 0 400
NSHET At 400,000 400
TEHASHHSE=SAMH JIsE2S 94,745 324,758 /230,013
402 2I2F X201 & 94,745 182,445 A87,700
03 2IZHAETALHHI 94,745 182,445 A87,700
NETEXED] WA &IISA
12,419,000& 12,419
N MY HIY WHSA
63,514,000& 63,514
NXSIEER ZE+F 2 2EF WA
9,812,000& 9,812
N2 2l ¢ 2+ 9,000,000& 9,000
LOEIIRLEE MIEN HIE X 3,710,980 7,228,058 A3,517,078
301 EtE NS 3,710,980 7,228,058 A3,517,078
01 A2 HSFS(RNEERTHE) 3,710,980 7,228,058 A3,517,078
NIOIE0 Hlg XI&
15,462,413,5143 +24% 3,710,980
TE= - DIOLEHUIOIANEH JIs2Z 19,789 66,846 N47,057
402 212+ X201 & 19,789 66,846 AN47,057
03 2I2+LAEAISHI 19,789 66,846 AN47,057
NAE=SAHOOBEE A =X L
B2 DIE2=SAt 4,818,000 4,818
1) 0[O HTIOIHOHE 2AF == K EF
LI A 14,971,000& 14,971
Lolol2SXAlE 2H0tAT XIS 4,761 1,500 3,261
201 fer23y| 4,761 1,500 3,261
01 AtR2t2|HI 4,761 1,500 3,261
ngootAa 2 3,000& 1,587 M 4,761
2 E3F =018 28(F =E0) 75,000 0 75,000
401 AIEHIZ SR OHYI 75,000 0 75,000
01 Al&HI 75,000 0 75,000
NHIE BESAH & M2 8X S
52,000,000 52,000
N2s217 &1 23,000,000 23,000
ol sA A 49,988,292 46,094,994 3,893,298
= 20,931,351
= 167,500
Al 19,034,204
T 9,855,237
ol S XX 49,988,292 46,004,994 3,893,298
= 20,931,351




2A:

24l - Zofel ot

. ZOje =X S8
Rl ZoHe! SXAIA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 167,500
Al 19,034,204
- 9,855,237
oyl Ee) S 20,691 22,171 1,480
201 et 3| 18,691 20,171 1,480
01 At22t2l] 18,691 20,171 A1,480
NEHASXI SIS 2B+
70,0002 * 10 22| *90f% 1,260
NS XsXHEX S M
1,200& 1,0000H 1,200
DR BEAS AER
2,2003 %3165+ 128 8,343
NEHAYSHEIFA It AIAE S
2t/ 429,000 123 5,148
1ZEHICHAI 21 =21 S AIAES e1b|
2,000,000& 2,000
NEOHIAD S AIANS AR
370,000& *23] 740
203 =] 2,000 2,000
03 A=A 2= 2,000 2,000
NEH=X FRFX 2,000,000& 2,000
ST Hojeles X 9,782,240 9,712,638 69,602
= 4,891,120
Al 3,912,8%
- 978,224
301 2PEN= 9,782,240 9,712,638 69,602
= 4,891,120
Al 3,912,8%
- 978,224
01 Al E2E A S(FRDEXH) 9,782,240 9,712,638 69,602
NSS! HoHez X
9,782,240,000& 9,782,240
= 4,891,120
Al 3,912,8%
- 978,224
S HoH===(0Ix) XA 2,189,590 2,181,904 7,686
= 1,094,795
Al 766,357
- 328,438
301 EetE NS 2,189,590 2,181,904 7,686
= 1,094,795
Al 766,357
- 328,438
01 Al E2E A S (2 REXMR) 2,189,590 2,181,904 7,686




FA: 024 - ZOoHel
= Zojel =X s

Rl ZoHe! SXAIA (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
EE I EREE
2,189,590,000& 2,189,590
= 1,094,795
Al 766,357
- 328,438
ST HOoH=SH(Xrat2) XA 791,704 789,982 1,722
= 395,852
Al 277,09
- 118,756
301 LetENEZ 791,704 789,982 1,722
= 395,852
Al 277,0%6
- 118,756
01 A 2&ASH 2 (FREETR) 791,704 789,982 1,722
NESZR Hol=S(XHate) X
791,704,000& 791,704
= 395,852
Al 277,0%
- 118,756
ZHOHQIE Al KI& 552,960 560,951 AT,991
201 LBr23| 128 119 9
01 AtR222ltl 128 119 9
DEOCIS & D EHAI ZEE M
5, 1202 2501 128
301 LPENSZ 20,000 20,000
2 AN BEH>HS(HUHS, NYHA) 20,000 20,000
D& HE228 XA
10,0003 *1,000AI CH*23] 20,000
307 QIZ2t01 A 512,832 510,832 2,000
03 QN HE2GHIE X 169,750 169,750 0
NEHeIZ 2 29H| XA
169,750,000& 169,750
04 CIZIHAIAIRIE X 44,465 42,465 2,000
DAl & I ESHAr XA
24,960,000 24,960
DRI A XA 19,505
2)A=REO0NQ! o
15,365,000 15,365
2)NME2Al ZoOiel stots MSUS
4,140,000 4,140
05 QIZIRIErZ 17,660 17,660 0
DAL 2FEH na 2Y
17,660,000& 17,660
11 AR SXAMEE R 280,957 280,957 0




2A:

24l - Zofel ot

2 Zoiel =X S
Rl ZoHe! SXAIA (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
DEOCIZ A LE2AAIY XA
254,675,000& 254,675
DO 2 WFE ALY X2
3,567,000& 3,567
D& SXESE A XA 22,715
2)H00E F0lwa 2355t
3,000,000& 3,000
2DEAD QIANADE LISO)
1,618,000& 1,618
2)ZONRIE S MRX WS
3,150,000& 3,150
)= ZOHC XESAt
5,450,000& 5,450
2)E MO XI& 2,850,000& 2,850
2)LLEO XHE X 4,757,000& 4,757
2)HONQI R AR QIF=AIRI =
1,890,000& 1,890
401 AIEBIZ20HbI 20,000 25,000 5,000
01 Al&Hl 20,000 25,000 A5,000
DEM g2 X2 20,000,000 20,000
SSEOC! OrtE3lLEAEIA AL 177,94 181,321 A3,327
Al 124,5%
- 53,398
307 gIzHol ™ 177,994 181,321 A3,327
Al 124,5%
- 53,398
11 AR SXAMEE R 177,994 181,321 N3,327
NSS! of2te=s HEMUIA 29
177,994,000& 177,94
Al 124,5%6
- 53,398
ZOHQIEHOIS A i Ot 23 2,930 2,930
203 PYRF=&IH| 770 770
03 A FAIH R FAIH| 770 770
DEOHIHSSE M ottt 2%
770,000 770
301 LBBNZ 2,160 2,160
11 HALAHIXIE S 2,160 2,160
DEOHQIECI SR NS HOE Botats X
20,0003 18«6 2,160
ZOHC! ROl AR 2 76,800 0 76,800
= 38,400
Al 28,800
- 9,600
301 LetENEZ 76,800 0 76,800




2A:

24l - Zofel ot

= Zojel =X s
=2l Hofe! SXX#A (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 38,400
Al 28,800
- 9,600
01 Al E2E AL S(FRDEXH) 76,800 0 76,800
1Z0HR! JHRIGIAK 29
76,800,000 76,800
= 38,400
Al 28,800
- 9,600
o esia At 27,291,220 24,097,504 3,193,716
= 13,642,910
Al 10,232,183
- 3,416,127
201 L= 5,400 4,480 920
01 At 2|l 5,400 4,480 920
NEHISSKY == X222 2
=g 70,0003 x5& * 122 4,200
NZHAESKIY HBJ12 XSEA sIHA
=g 300,000 *1 2 %404 & 1,200
301 LeEN= 27,285,820 24,003,024 3,192,79%6
= 13,642,910
Al 10,232,183
T 3,410,727
01 Al EEAGZ(ZREXMR) 27,285,820 24,093,024 3,192,79%6
NEOHISSKE S0
27,285,820,000& 27,285,820
= 13,642,910
Al 10,232,183
T 3,410,727
ZoHel 28X JaN 535,018 640,494 A105,476
= 267,509
Al 200,632
- 66,877
301 EtE NS 535,018 640,494 A105,476
= 267,509
Al 200,632
- 66,877
01 Al 2E A S(SRNEXMHE) 535,018 640,494 105,476
NEMHESEX IS0
535,018,000 535,018
= 267,509
Al 200,632
- 66,877
ZOHRIESKIE PHIFIHALY 1,048,700 933,990 114,710
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Rl ZoHe! SXAIA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,045,200 930,240 114,960
02 A2 EH 2GS (FHAAHS, XNLWE) 1,045,200 930,240 114,960
NEHISSXIE FHIFIH X2
16,7502 x130& #40A| 2+ 123 1,045,200
308 AtXIEMSOIE 3,500 3,750 A250
18 SIS0t AS A 3,500 3,750 A250
1)FHIFO MRS HAIAE AL
3,500,000& 3,500
LEH M T2 40,200 40,200
307 glztol & 40,200 40,200
11 AMEISXAEEES 40,200 40,200
NI NHHMSXE &S
5,600,000& 5,600
N H&H= XA
34,600,000 34,600
ZOHALERII| =CIASE 43,000 55,000 212,000
Al 13,000
- 30,000
301 LELEE S 43,000 55,000 A12,000
Al 13,000
T 30,000
02 A2 EH 2GS (FHAAHS, W) 43,000 55,000 212,000
NEHMo s =a 37,000,000& 37,000
Al 13,000
- 24,000
NEFD| el 6,000,000& 6,000
ZoHe! dXtel X (MM Rt2l) 1,112,740 1,094,200 18,540
= 333,822
Al 389,459
- 389,459
101 21A4H| 1,111,165 1,092,700 18,465
= 333,351
Al 388,907
- 388,907
MU IIRINZZENSES 1,111,165 1,092,700 18,465
1eldl, 4UEs S 1,111,165,000& 1,111,165
= 333,351
Al 388,907
T 388,907
201 er23| 1,050 1,000 50
= 314
Al 368
T 368
01 At2teltl 1,050 1,000 50
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el SXIXE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEUMaioE 2= 2 0H
650,000 650
= 194
Al 228
= 228
DEHILTIRIAY T 5
400,000 400
= 120
Al 140
- 140
203 HR=H] 525 500 25
= 157
Al 184
- 184
03 A=A =] 525 500 25
NZOHQIATICIAIY HRFEX
525,000 525
= 157
Al 184
- 184
ZOHQ! X2l X (AIREMt2]) 285,706 281,000 4,706
= 85,712
Al 99,997
- 99,997
307 212+01™ 285,706 281,000 4,706
= 85,712
Al 99,997
- 99,997
1 AMISXAIEEX 285,706 281,000 4,706
1NEOHR AR X2l X
285,706,000 285,706
= 85,712
Al 99,997
- 99,997
ZoHel Xiel X (2XLRt2l) 604,103 562,800 51,303
= 181,231
Al 211,436
- 211,436
307 gl2to| & 604,103 552,800 51,303
= 181,231
Al 211,436
- 211,436
11 AMEISXAIEEXS 604,103 552,800 51,303
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. ZOje =X S8
s ool SXIXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEL sXILXtel X
604,103,000& 604,103
= 181,231
Al 211,436
- 211,436
Zoye! st 0184 57,000 57,330 A330
201 Ler2&| 1,200 4,030 22,830
01 At2teltl 1,200 4,030 2,830
NEHL! 23t 0184 2t &1
100,000 *20H A 200
NEHe 25t DI2a SESMA
1,000,000& %12 1,000
301 LELEN S 54,600 46,800 7,800
02 MBI 2EHSFHS(HAANS, XLHE) 54,600 46,800 7,800
NEL! &gt 0Is4 At XI&
350,000 130 =S+ 123 54,600
401 AIEHIX R0 1,200 6,500 A5,300
01 A28l 1,200 6,500 25,300
NEoHe! 25t 0124 ZAIZ &1
600,000 *20H A 1,200
NETEE MSIMHIA SEXAIZ (XISALZ HHIA) 335,000 335,000 0
= 167,500
Al 83,750
- 83,750
307 @I2t0| & 335,000 335,000 0
[ 167,500
Al 83,750
- 83,750
11 AMEISXAIEEXS 335,000 335,000 0
NEUEZID] HEMHIA
17,000,000 17,000
[ 8,500
Al 4,250
- 4,250
NEFL XESSAHIA
28,000,000& 28,000
[ 14,000
Al 7,000
- 7,000
TAIZIEOHR oFOtMHIA
290,000,000 290,000
[ 145,000
Al 72,500
- 72,500
el 8sEX010] 280t € K& 35,000 42,000 AT7,000
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24l - Zofel ot

. ZOje =X S8
el Zojel SXIXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2)Q124t| 19,160
22 1,166,000 x1&* 12 13,992
) FUZAHI 120,000 x1&* 122 1,440
JEXAMYZ 106,738& 1+ 123 1,281
J4U=EE 120,5703x 1« 123 1,447
JYEFOHI 500,000 x12H+23] 1,000
2)MTHE 2l
3,805 36 *x202 * 12 31,962
11 AMRISXAEES 27,653 27,653 0
NSSEH 2eE AlY X
7,000,000 7,000
NEAZ0H OIMKE & S
1,710,000& 1,710
s mal 9,818,000& 9,818
NZSA=0{ua 9,125,000& 9.125
402 212 X201 & 9,000 10,000 21,000
03 2IZHRAETAIHHI 9,000 10,000 1,000
NTEHMIESHAZ JIsEL
9,000,000& 9,000
ASZUSE =2 29 2,580,3% 2,491,470 88,926
Al 1,687,688
- 892,708
307 @I2t01 & 2,580,3% 2,491,470 88,926
Al 1,687,688
- 892,708
05 2IR”IRIE = 2,580,3% 2,491,470 88,926
NZSZHLSS=A2 2 2,536,7%
LSHHASE =2 2]
2,090,306,000& 2,000,306
Al 1,358,699
- 731,607
A=FHABE =2 2]
446,490,000& 446,490
Al 290,219
- 156,271
NEAK SXIEAE 13,800,000 13,800
Al 8,970
- 4,830
NZSSLESAH 9,000,000 9,000
Al 9,000
DAFAIE UWE/AD & 12 1F0IEs X
Are 8,000,000& 8,000
Al 8,000
NEOHUSSHEFIMN X2
12,800,000& 12,800
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s ool SXIXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 12,800
Lot S WS FEHEHA 28 133,312 130,560 2,752
307 21201 & 133,312 130,560 2,792
05 2IR”IRIE = 133,312 130,560 2,752
NHEHA 22| 2,500,000 128 30,000
1N2HIIAL Q1244 36,656,000 x2& 73,312
DA IR 49
1,000,000 x2&* 122 24,000
NERE |2l 6,000,000& 6,000
22T HdUSHH 29 787,236 698,436 88,800
Al 520,261
- 266,975
201 el 178,200 128,436 49,764
01 At2t2ltl 178,200 128,436 49,764
N BHNSLE Jitz
14,850,000 x 12& 178,200
307 el2to| & 609,036 570,000 39,036
Al 520,261
- 88,775
05 glt?(& = 609,036 570,000 39,036
NI BHWSUE 24 609,036
2)Q124H| 591,836,000 591,836
Al 503,061
T 88,775
2)2aH| 17,200,000& 17,200
Al 17,200
A2 Ee dE 249 X 72,452 71,182 1,270
Al 26,227
- 46,225
201 er=23| 5,000 5,000
2 s5=34l 5,000 5,000
1AIE S XY 5,000,000& 5,000
307 @120l & 67,452 66,182 1,270
Al 26,227
- 41,225
11 AMRISXAEEES 67,452 66,182 1,270
DAIZEML e 2<% 67,452
2)Q124t| 41,888,640 41,889
Al 20,945
- 20,944
2)2aH| 25,562,560 25,563
Al 5,282
- 20,281
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s ool SXIXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=0 SAME 29 N2 493,086 163,680 339,406

Al 268,971
- 224,115
201 er2 3| 7,800 7,800
01 AtR2te|Hl 7,800 7,800
1) SAAHIA TI- S0IEHH|
975,000 8% 7,800
307 21201 & 485,286 145,880 339,406
Al 268,971
= 216,315
e NEEEEETEES 430,160 9,928 33,232
NYETE0ISAME 0121H] U 2|
301,760,000 301,760
Al 241,408
- 60,352
NISA+HSAUE 29 128,400
2)AX=2 (FHIXIA) 9,900,000& ~12& 118,800
2)2HI(FEIXIH) 800,000&* 122 9,600
11 AMEISXAEEXS 55,126 49,952 5,174
N)sotel e 28 XId
13,781,500 x4= 7| 55,126
Al 27,563
- 27,563
ZOHRIIEXZME 2E 203,130 251,353 N\48,223
Al 94,765
- 108,365
307 212+01& 203,130 215,490 212,360
Al 94,765
T 108,365
05 2ItRIE = 203,130 215,490 12,360
NZOHRIDIERIYME 212dH] & 22|
189,530,000& 189,530
Al 94,765
- 94,765
NEOHRIDIEXYLYH 258 2H =0t X
300,000 * 122 3,600
NS UERD &5
10,000,000 10,000
HeldSAdy 24 & 2 291,000 289,000 2,000
201 er23| 24,000 24,000 0
01 AtR2t2|HI 24,000 24,000 0
NHeIHEHAMEYH YX=
2,000,000 122 24,000
307 212+01& 267,000 265,000 2,000
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Rl ZoHe! SXAIA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 267,000 265,000 2,000
DEEIGET S 267,000
2)2121H((3%) 181,000,000 181,000
2)2Ztl 80,000,000 80,000
NEs X2l 6,000,000 6,000
ZOQL S JI=X2HE 228 K& 124,936 118,520 6.416
Al 62,468
- 62,468
307 elztol & 124,936 118,520 6.416
Al 62,468
- 62,468
10 Al SXAZEHE 22X 124,936 118,520 6,416
DEOHRIHOESZR J|=XIJAEH Q2|
112,958,000& 112,958
Al 56,479
- 56,479
NN BB JI&XdHE 22
2,994,500 x4=2 7| 11,978
Al 5,989
- 5,989
ZoHe! BEoAE ME2LIHEH 28 A& 67,244 63,442 3,802
Al 33,622
- 33,622
307 21201 & 67,244 63,442 3,802
Al 33,622
- 33,622
10 Al2ISTIAIEEE 22X 67,244 63,442 3,802
NHEZL2LIHEE 2l
62,920,000 62,920
Al 31,460
- 31,460
NEE2LHEE 2] 4,324,000& 4,324
Al 2,162
- 2,162
H0Pl= XEE MEABIA 93,600 90,000 3,600
301 22N = 93,600 88,920 4,680
02 MBI 2HHSFHS(FHAANS, KLHE) 93,600 88,920 4,680
NXOPE XEE NEAHIA 0128 R
600,000& * 13 S+ 12& 93,600
HH 23 221,576 211,168 10,408
QIHA2HHI(0{24 - Zojelnt) 94,553 91,316 3,237
IA2HHI (1004 HAEHA 2Y) 94,553 91,316 3,237
101 21AH| 94,553 91,316 3,237




ST Ol24l - EOHOIT
ZE: wSHAY|
Cel: QlA2HH(A24! - ZHoHI ) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 JIEtME = 94,553 91,316 3,237
DAIRZHIEN R DIH 2t (3BAI2E) 56,050
2JI2Ns 3,029, 7602 *12&+1.03 37,448
2)dnAsS
59,013,000 8%+ (35A12+ /40A12+)*1.03 4,255
XSEXH|
180,000 % (35A12H/40A124 )+ 122 1,890
2 EsE 160,000& * 12 1,920
N2 ReE
10,4162 +30AI 2t 122 %1.03 3,863
2)SHRR4g 14550021 % 1221%1.03 1,79
2)ZHS A 140,000~ 12& 1,680
2)AItE 4]
3,029, 7602 +84%+~86%+1/30%1/7+77 Al 2++1.03
827
2)ALEEE 1,447,000 1,447
AFIQRALEZ 186,000 186
) NEEEE 735,000& 735
AIZHIEN R DIHI 0= (35A12H) 38,503
2DIE2NS 1,806,613% %122 +1.03 22,330
2)8nAs
50, 178,000 8%+ (35A1 2+ /40A12+)*1.03 3,618
2)XZE ]
175,000 % (35A12H/40A124 )« 122 1,838
2 EsE 160,000& * 12 1,920
NRLLZR4E
9,860 *30AI2+*12&%1.03 3,657
)EXRE 99, 1063 *12&%1.03 1,225
2)ZHS A 140,000« 12& 1,680
2)AItE 4]
2,064, 7002 +84%+~86%+1/30%1/7+77 Al 2+1.03
564
2)ALEEE 1,021,000& 1,021
AFIQRALEZ 131,000 131
2)NEEEE 519,000 519
(22024 - ZoHelDt) 127,023 119,852 7.1
Jl=2ZHI(024 - Zojelnt) 127,023 119,852 7.1
201 er2 3| 65,775 53,900 11,875
01 AtR2telHl 65,775 53,900 11,875
NAIRZEH 10,0002 x28& %42 1,120
NEXSE 303 *2,0000H 60
DESE=E= 70 =1,0000H 70
NAFES 120:21%1,0000H 120
NEMSZAR 40,0003 «42f Xt 160
D=0 Ed 200,000 x4 5+33] 2,400




ST Ol24l - EOHOIT
B smooAy|
gl Jl=2gHI(024l - ZoHelt) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=2 & 250,000& x45 1,000
=801 sls=E8E 55,0002 *32] 165
NE80 sxzel 100,000 %23 200
NJ2gRFagaltl
9,000 x28E 2041+ 12 60,480
202 04l 56,448 61,152 AN4,704
01 2LHoIH 56,448 61,152 N4,704
NJlE2gRFa 0|
20,0003 x28 2 142 123 »60% 56,448
203 HR=AH] 4,800 4,800
04 ENSYLREAY] 4,800 4,800
1)30@! o5t 400,000 128 4,800




